
Angle	of	elevation	and	depression	worksheet	key	answer	key	pdf	download

106278236160	17483162662	73234276200	13342520.285714	21391995.470588	17311141.518519	9413908816	1116310.5243902	29036441.333333	37074320.222222	35085112744	48725818812	20262344760	31846800678	41051492.58	70104148950	29194422.258065	537438.86486486	30313193408	5088998816

https://wirut.co.za/XSRYdR1H?utm_term=angle+of+elevation+and+depression+worksheet+key+answer+key+pdf+download


y	soiratnemoc	sus	somarolaV	.hp.vog.deped@noitca	a	n³ÃicacudE	ed	otnematrapeD	la	senoicadnemocer	y	soiratnemoc	,soiratnemoc	sus	ne​Ãvne	euq	a	n³Ãicacude	al	ne	sodaseretni	sorto	y	setnecod	sol	a	somatnelA	.sedadisrevinu	o/y	soigeloc	,sadavirp	y	sacilbºÃp	saleucse	ed	serodacude	rop	n³Ãicarobaloc	ne	odasiver	y	odarobale	euf	ocitc¡Ãdid	lairetam	etsE	olugn¡ÃirT	a​ÃrtemonogirT	:7	olud³ÃM	9	zidnerpA	led	lairetaM	sacit¡ÃmetaM	.1	.abirra	ed	n³Ãtob	le	ne	cilc	odneicah	lepap	le	ragracsed	edeuP	.elbinopsidni	etnemlautca	se	aiverp	atsiv	al	,somitnes
oLweiverP	odnagraC	n³ÃisiveR	dadilibaborP	sotaD	a​ÃrtemoeG	arbegl​Ã	n³ÃicroporP	oremºÃN	.aiverp	atsiv	atse	ne	nartseum	es	on	799	a	599	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	379	a	179	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	469	a	339	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	729	a	419	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	artseum	es	on	809
atiutarg	aiverp	atsiv	ed	anig¡Ãp	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	388	a	768	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	artseum	es	on	558	atiutarg	aiverp	atsiv	ed	anig¡Ãp	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	348	a	567	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	947	a	437	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	896	a	236	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu
odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	485	a	853	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	482	a	802	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	.aiverp	atsiv	atse	ne	nartseum	es	on	061	a	76	sanig¡Ãp	saL	atiutarg	aiverp	atsiv	anu	odneyel	¡Ãtse	detsU	Department	of	Education	Republic	of	the	Philippines	2.	Mathematics	G	to	9	Learning	Material	First	Edition,	2014	ISBN:	978-971-9601-71-5	The	Republic	ct	8293,	section	176,	states	that:	No	copyright	will	remain	in	any	work
of	the	Philippine	Government.	However,	the	prior	approval	of	the	government	agency	or	office	in	which	the	work	is	created	will	bePampellum	524	..................................................	.............................................	yrtemongirt	elgnairt	.7	Eludom	STETHNOC	FO	ELBAT	.3	moc	.Oohahahahahahahahah	liam-e	2701-436	or	4501-436	)20(	:xafelet	0061	seniplihp	,yitic	kinder	,euneva	ooclarem	,ssssssssssssss.	FO	TNemtraped	.Cn	,Bark	Labiv	yb	Seniplihp	eht	ni	detnirp	.rj	Leirbag	nas	.M	Ronacin	dna	,zep	.s	lebiram	,oatac	.g	htbazle	,	Egelloc	pu	,tnemrapped	noitacummc
lausiv	,etesor	.c	dognoel	:Reked	koob	dhp	,azosrev	.b	eiram	eimbed	dna	,DHP	,DHP	,Oisacsap	.a	enlra	,	oilegrat	,	obserpate	Azosrev	.b	eam	eimbed	:rotide	DHP	,Pelu	.a	Dahallos	DNA	,DHP	,AZNON	.C	XELA	,DHP	,SECAG	.L	ENUJ	NA	,DHP	,DHP	,SAID-ANANANIRAM	-Lehnalas	,	sem	.j	Htedanreb	,Orazal	.A	ELIRIVAJ	.E	AINOS	,AICRAAG	,AREV	ED	.F	DRAHCIR	.D	yrrem	,atnalac	.	Â​Ã¢renraeL	eht	fo	mae	tnempoleveD	DhP	,opmacO	.S	aniD	:yratercesrednU	CSF	ortsiuL	.A	nimrA	.rB	:yraterceS	noitacudE	fo	tnemtrapeD	eht	yb	dehsilbuP	.meht	revo	pihsrenwo	mialc
ron	tneserper	ton	od	srohtua	dna	rehsilbup	ehT	.srenwo	thgirypoc	evitcepser	rieht	Morf	Slairetam	Eseht	Esu	Ot	Noissimrep	Gnikees	Noissimrep	Gnikees	,)slocos(	yteicos	Gnisneck	thgirypoc	Eht	yb	detneserper	of	the	DepEd	.sredloh	Thgirypoc	Evitcep	,serht	yhht	kean	kean	kean	kean	kean	koab	yub	yub	yib	yib	yib	yib	yib	yib	yib	yib	yib	yib	yaman	ni	depED	,	SMEOOP	,SEROT	,SGNOS	,.E.I(	Slairetam	deworrob	.Seitlayor	fo	tmyap	eht	noitiddddnoc	our	esop	y	tnacesoC	,tnaceS	,tnegnaT	,enisoC	,eniS	:sacirt©ÃmonogirT	senoicaR	sieS	saL	.1
...............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................ejazidnerpa	ed	sovitejbO	724
.........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................n³ÃicaulavE-erP	624	2.	Trigonometric	Ratios	of	Special	Angles...............................................................	3.
Emotion	angles	and	Depression	angles....................................................................................................................................................................................	457	Lesson	4.	Word	problems	involving	straight
triangles..........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
497	Glossary	of	Terms...............	506	References	and	Websites	Links	Used	in	this	Module........................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................	MODULE	7	TRIANGLE	TRIGONOMETRY
I.	INTRODUCTION	AND	FOCUS	QUESTIONS	Have	you	ever	wondered	how	towers	and	buildings	were	built?	How	do	you	determine	the	distance	traveled	as	well	as	the	height	of	a	plane	as	it	is	removed?	What	about	determining	the	height	of	the	mountain?	We	can	do	all	these	things	even	if	we're	not	in	the	real	place	or	at	the	sitting	auction.	These	are	just	some	of	many	real-world	applications	of	triangle	trigonometry.	www.olx.com.ph	www.nw2m.com	This	module	will	help	you	understand	how	to	use	thein	trigonometry	in	the	resolution	of	different	real	-life
problems	that	involve	straight	triangle.	II.	Lessons	and	coverage	in	this	mide,	you	will	find	answers	to	the	previous	questions	when	studying	the	following	lessons:	Leccion	1	ã	¢	â‚¬:	The	six	trigonomã	©	tric	relations:	sinus,	cosine,	tangent,	drying,	harmonte	and	cotangent	2	â‚¬	:	Trigonomomal	relations:	of	special	ones	less	real	-life	problems	that	involve	correct	triples	425	LECCIÓN	5	ã	¢	â‚¬	â	€	5.	426	In	these	lessons,	it	must	be	able:	Lección	1	ã	¢	â‚¬	â	¢	illustrate	the	six	trigonomã	©	tricas	proportions;	Ã	¢	â‚¬	â	¢	Apply	trigonomã	©	tric	relations	to	resolve
the	right	triangles	given:	a.	the	length	of	hypotenuso	and	the	length	of	one	leg	b.	The	length	of	the	hypotenuse	and	one	of	the	acute	ones	c.	The	length	of	one	leg	and	one	of	the	acute	ones	d.	The	length	of	both	sides	lecion	2	ã	¢	â‚¬	â	¢	Determine	trigonomã	©	tric	relations	that	involve	special	units;	Ã	¢	â‚¬	â	¢	Calculate	the	numerical	values	​​of	the	trigonommit	expressions	that	involve	special	entities;	LECCIÓN	3	ã	¢	â‚¬	â	¢	illustrate	elevation	and	depressing	levels;	Ã	¢	â‚¬	â	¢	distinguish	between	elevation	and	depressing	of	depression;	Ã	¢	â‚¬	â	¢	solve
problems	that	involve	elevation	and	depressing	levels;	LECCIÍN	4	ã	¢	â‚¬	â	¢	Use	the	trigonomy	proportions	to	solve	real	-life	problems	that	involve	correct	triangles	LECCIÓN	5	ã	¢	â‚¬	Â	¢	Solve	problems	involving	oblique	triples	map	of	módulo	6.	III.	Pre-evaluation	allow	us	to	find	out	how	much	you	know	about	this	mide.	Answer	the	following	questions	as	much	as	I	can	write	in	Answer	sheet,	the	letter	that	believes	is	the	correct	answer.	Take	note	of	the	elements	that	you	could	not	respond	correctly	and	then	discover	the	correct	answer	as	we	go	through
this	mide.	eleven.	Respect	for	the	Ã¡ngo	right,	âcuã¡l	is	the	rapporteur	of	the	hypotentice	with	the	side	of	the	opposite	side?	A.	Show	of	B.	Kosine	C.	Tangent	D.	Coscant	2.	Ã¿cuã¡l	of	the	following	statements	are	correct?	427	A.	x	=	8	C.	without	60â°	=	And	4	B.	Sin3	De	prediction?	A.	âˆ	mkn	C.	âˆ	Lkn	B.	A.	1	cm.	9	cm	A.	16â°	C.	41â°	28â°	62â°	17	15	d	Objeto	L	13	cm	m	m	e	f	12	cm	t	7.	6.	Sip	=	30	and	q	âˆ	R?	428	A.	40°	C.	60â°	B.	55â°	75.	Encuentre	the	value	of	c	the	unit	of	mã¡s	Cerna.	A.	20	C.	23	B.	24	8.	âi	is	the	value	of	x?	A.	3	C.	6	B.	3	2	D.	6	2	9.
Expression	2	(with	30â)	â€“	tan	45â°	is	equal	to	Q	R	A.	0	B.	2	D.	.	A	125	m	from	rope	has	a	ãvaciã3n	with	the	soil	of	45â°.	â¿Quã©	tan	tan	tan	high	is	the	commotion	about	the	soil?	A.	62.8	m	c.	88.4	m	b.	75.1	m	113.6	m	11.	From	the	highest	part	of	a	barrier	of	7.62	m	de	heir,	it	was	a	gath	in	his	own	wing.	The	Ã¡ngo	of	de	prediction3n	of	the	gath	is	of	40â°.	â¿cuã¡to	the	meters	from	caminer	the	gato	to	go	to	the	farmer?	A.	9.08	m	c.	9.81	M	B.	9.80	M.	9.18m	12.	ABCD	is	a	parallel.	If	it	is	of	8	cm	of	long,	bc	is	of	5	cm	and	his	Ã¡ngo	inclusively	mid	100â°,
âmo¿quatte	time	is	diagonal?	A.	12.95	CM	10.40	CM	â¿quã©	is	lo	r?	A.	12	13	13	B.	5	13	C.	5	12	d.	12	x	45œ	6	45°	40°	40°	40°	C	15	B	Q.	8.	14.	î”xyz	es	a	TriÃ¡ngo	no	right.	Is	xy	mid	20	cm,	xz	mid	15	cm	y	â	̆	Â	35â°	35â°	Â¿cuã¡l	the	measure	of	water?	A.	25.84°	B.	24,85â°	C.	25.48	d.	24.58â°	15.	A	gloo	is	of	50	m	of	height.	Its	Ã¡ngo	of	elevaciã3n	of	the	observor	Ase	from	45â°	and	of	the	observer	b	is	of	30â°.	âcuã¡l	Is	the	distance	between	the	two	observers?	Expurãlo.	to	the	nearby	meter.	A.	136	M	B.	137	M	C.	138	m	D.	39	m	16.	With	the	Sun,	a	child	of	1.4	m
high	emits	a	shadow	of	3.6	m.	Find	the	elevation	unit	from	the	tip	of	the	shadow	to	the	sun.	Express	your	response	to	the	closest	time.	A.	19	°	B.	20	°	C.	21	°	D.	22	°	17.	You	are	walking	along	a	straight	level	path	towards	a	mountain.	At	one	point,	the	elevation	unit	of	the	upper	part	of	the	mountain	is	40	°.	As	he	walks	250	more	closely,	the	elevation	unit	is	45	°.	What	high	is	the	mountain?	Express	your	response	to	the	end	of	a	closest	meter.	A.	1304	m	B.	1340	m	C.	1034	m	D.	1043	m	18.	Two	points	P	and	Q	on	the	same	side	of	a	river	are	separated	from	12	m.
A	tobb	on	the	opposite	side	of	the	river	is	directly	opposite	to	a	point	between	P	and	Q.	The	views	of	an	ã¡robol	through	the	rão	make	É¡ngles	of	78	°	and	57	°,	respectively,	with	the	line	joining	P	and	Q.	Find	the	dis-stance	from	the	point	q	to	the	found.	Express	your	response	to	the	closest	meter.	A.	14	M	B.	15	M	C.	16	m	D.	17	M	19.	A	topógrafo	sees	two	signs	and	the	unit	between	the	two	vision	lines	measures	55	°.	If	the	first	and	second	sign	are	70	my	50	m	away,	respectively,	of	the	top,	find	the	distance	between	the	two	signs.	Express	your	response	to	the
closest	meter.	A.	81	M	B.	82	M	C.	83	m	D.	84	m	20.	Two	ships	leave	the	same	port	at	the	same	time.	A	ship	navigates	in	a	110	°	course	at	32	miles/h.	The	other	sails	in	a	course	of	230	°	to	40	miles/h.	Find	the	distance	between	them	after	2	hours.	Express	your	response	to	the	closest	mile.	A.	124	Mi	B.	125	Mi	C.	126	Mi	D.	127	Mi	IV.	Learning	objectives	Student	demonstrates	the	understanding	of	the	basic	concepts	of	trigonometry	and	is	able	to	apply	the	concepts	of	trigonommitic	relationships	to	formulate	and	solve	real	life	problems	with	pre-cisin	429	and
precise.	9.	The	six	proportions	.solugn¡Ãirt	.solugn¡Ãirt	erbos	sotpecnoc	setnerefid	sol	radrocer	a	¡Ãraduya	ol	1	n³ÃicceL	al	rebas	©ÃuQ	1	034	etnegnatoc	y	etnacesoc	,etnaces	,etnegnat	,onesoc	,ones	will	guide	you	to	define	and	illustrate	the	six	trigonometric	ratios.	¢Ã​Â¤Â	Activity	1:	Triangles	of	Different	Sizes	This	activity	helps	you	recall	the	concepts	of	similar	triangles.	Investigate	the	following	triangles:	1.	Draw	three	similar	right	triangles	ABC,	DEF,	and	GHI	in	different	sizes	in	such	a	way	that	m	¢Ã​Â	ÂC	=	m	¢Ã​Â	ÂF	=	m	¢Ã​Â	ÂI	=	63​Ã°Â.	2.	Measure	the
second	acute	angle	in	each	of	the	triangles.	3.	Use	a	ruler	to	measure	the	sides	of	the	triangles	to	the	nearest	tenths	in	centimeters.	Then	find	each	of	the	following	ratios	for	all	the	three	triangles:	a.	the	ratio	of	the	leg	opposite	the	63​Ã°Â	angle	to	the	hypotenuse	b.	the	ratio	of	the	leg	adjacent	to	the	63​Ã°Â	angle	to	the	hypotenuse	Record	your	findings	in	the	given	table	Measures	in	​Ã​ÂABC	in	​Ã​ÂDEF	in	​Ã​ÂGHI	leg	opposite	the	63​Ã°Â	angle	leg	adjacent	to	the	63​Ã°Â	angle	hypotenuse	leg	opposite	63​Ã°Â	angle	hypotenuse	leg	adjacent	to	63​Ã°Â	angle	hypotenuse
leg	opposite	63​Ã°Â	angle	leg	adjacent	to	63​Ã°Â	angle	4.	Analyze	the	ratios	of	the	sides	across	these	triangles.	What	do	you	notice	about:	a.	the	first	ratio,	leg	opposite	63​Ã°Â	angle	to	the	hypotenuse?	b.	the	second	ratio,	leg	adjacent	to	63​Ã°Â	angle	to	the	hypotenuse?	c.	the	third	ratio,	leg	opposite	the	63​Ã°Â	angle	to	the	leg	adjacent	to	63​Ã°Â	angle?	10.	5.	Using	a	scientific	calculator,	determine	the	value	of	sin	63​Ã°Â,	cos	63​Ã°Â,	and	tan	63​Ã°Â	then	compare	them	to	the	values	obtained	in	step	4.	What	do	you	observe?	431	6.	Complete	each	statement:	The	ratio
_____	is	the	approximate	value	of	sine	of	63​Ã°Â.	The	ratio	_____	is	the	approximate	value	of	cosine	of	63​Ã°Â.	The	ratio	_____	is	the	approximate	value	of	tangent	of	63​Ã°Â.	7.	Complete	the	sentence:	In	a	right	triangle	having	an	acute	angle,	a.	the	sine	​Ã¸Â	is	the	ratio	between	_________and	___________.	b.	the	cosine	​Ã¸Â	is	the	ratio	between	___________	and	___________.	c.	the	tangent	​Ã¸Â	is	the	ratio	between	__________and	____________.	From	Activity	1,	you	have	discovered	different	ratios	derived	from	the	sides	of	a	right	triangle	having	an	acute	angle.	The	next
activity	will	help	you	further	develop	the	concept	you	have	determined.	¢Ã​Â¤Â	Activity	2:	Measuring	and	Calculating	For	each	of	the	right-angled	triangles	in	the	worksheet	do	the	following:	1.	Measure	the	marked	angles;	2.	Label	the	opposite	and	adjacent	sides	with	respect	to	the	marked	angle;	3.	Use	your	calculator	to	work	out	the	three	ratios:	Opposite	Hypotenuse	,	Adjacent	Hypotenuse	,	Opposite	Adjacent	4.	Record	the	measurements	and	calculations	in	this	table.	Length	of	sides	(in	cm)	Trigonometric	ratios	Angle	(​Ã°Â)	Opposite	Adjacent	Hypotenuse
Adjacent	Hypotenuse	Opposite	Hypotenuse	Opposite	Adjacent	a)	b)	c)	d)	e)	f)	11.	5.	Examine	the	values	of	the	three	ratios.	Could	the	ratios	432	Opposite	Hypotenuse	or	Adjacent	Hypotenuse	be	greater	than	1?	Explain	your	answer.	6.	What	about	the	ratio	Opposite	Adjacent	?	What	greatest	value	could	this	ratio	have?	Why	do	you	say	so?	WORKSHEET	a.	b.	c.	d.	e.	f.	12.	To	summarize	what	you	have	learned	from	the	activities,	study	the	concepts	below	about	the	Six	Trigonometric	Ratios.	In	a	right	triangle,	we	can	define	actually	six	trigonometric	ratios.
Consider	the	right	triangle	ABC	below.	In	this	triangle	we	let	​Ã¸Â	represent	-¢Ã​Â	ÂB.	Then	the	leg	denoted	by	a	is	the	side	adjacent	to	​Ã¸Â,	and	the	leg	denoted	by	b	is	the	side	opposite	to	​Ã¸Â.	hypotenuse	​Ã¸Â	b	c	We	will	use	the	convention	that	angles	are	symbolized	by	capital	letters,	while	the	side	opposite	each	angle	will	carry	the	same	letter	symbol,	in	lowercase.	433	sin	of	​Ã¸Â	=	sin	​Ã¸Â	=	opposite	hypotenuse	cosecant	of	​Ã¸Â	=	csc	​Ã¸Â	=	hypotenuse	opposite	cosine	of	​Ã¸Â	=	cos	​Ã¸Â	=	adjacent	hypotenuse	secant	of	​Ã¸Â	=	sec	​Ã¸Â	=	hypotenuse	adjacent
tangent	of	​Ã¸Â	=	tan	​Ã¸Â	=	opposite	adjacent	cotangent	of	​Ã¸Â	=	cot	​Ã¸Â	=	adjacent	opposite	SOH	¢Ã​Â​Â	CAH	¢Ã​Â​Â	TOA	is	a	mnemonic	used	for	remembering	the	equations.	Notice	that	the	three	new	ratios	at	the	right	are	us	euq	ed	eserºÃgesa	,°Â83	odacep	led	rolav	le	rartnocne	araP	:olpmejE	olugn¡Ã	le	adad	n³Ãicaler	anu	rartnocnE	.a	.acirt©Ãmonogirt	n³Ãicaler	anu	ad	el	es	odnauc	olugn¡Ã	nu	rartnocne	arap	arodaluclac	anu	razilitu	edeup	,s¡ÃmedA	.rotal-uclac	nu	odnazilitu	rartnocne	nedeup	es	n©Ãibmat	serolav	sotsE	.sodal	sol	ed	dutignol	al	ed
etnemetneidnepedni	,setnatsnoc	nos	ralucitrap	olugn¡Ã	reiuqlauc	arap	sacirt©Ãmonogirt	soitar	sal	ed	serolav	sol	,seroiretna	senoicces	ne	oiv	detsu	omoC	socirt©ÃmonogirT	soitaR	rartnocnE	arap	arodaluclaC	al	rasU	c	6.01	=	°Â76	nis	°Â76	nis	6.01	=	c	b	=	B	nis	6.01	=	°Â76	odacep	c	atseupo	asunetopih	=	c	odacep	se	euq	,HOS	esU	.odad	oduga	olugn¡Ã	led	asunetopih	al	se	c	y	otseupo	odal	le	se	b	,oduga	olugn¡Ã	nu	se	B	​â	:n³ÃiculoS	.2	erugif	ni	c	rof	evloS	.d	534	.41	°Â76	6.01	=	A	C	B	21	=	t	P	S	p	T	°Â76	nat	6.01	=	a	6.01	=	°Â76	nat	a	6.01	=	°Â76	nat	a	6.01
=	B	nat	a	b	=	etnecayda	la	otseupo	=	¸Î	nat	se	euq	,AOT	rasU	.B	​â	a	etnecayda	odal	le	se	nu	y	,otseupo	odal	le	se	b	,oduga	olugn¡Ã	nu	se	B	​â	:n³ÃiculoS	.2	arugif	anu	arap	evleuseR	.c	°Â35	odacep	21	=	p	21	p	=	°Â35	nis	t	p	=	P	asunetopih	odacep	otseupo	=	¸Î	odacep	°Â35	euqrop	21	=	s	t	s	=	°Â35	euqrop	t	s	=	P	euqrop	etnecayda	asunetopih	434	c	a	=	¸Î	euqrop	se	euq	,HOS	osu	le	se	euq	,HAC	esU	.P	​â	ed	otseupo	odal	le	se	p	y	,asunetopih	.P	​â	a	etnecayda	odal	le	se	s	,asunetopih	al	se	t	,oduga	olugn¡Ã	nu	se	P	​â	:n³ÃiculoS	al	se	t	,oduga	olugn¡Ã	nu	se	P	​â
:n³ÃiculoS	.roiretna	arugif	al	ne	p	arap	revloseR	.b	.roiretna	arugif	al	ne	s	arap	evleuseR	.a	°Â35	.olugn¡Ãirt	led	adidrep	etrap	anu	rartnocne	arap	alumr³Ãf	o	n³Ãicauce	al	ranimreteD	.1	olpmejE	ohcered	olugn¡Ãirt	nu	ed	sadidrep	setrap	sal	arap	alumr³Ãf	anu	odnartsoM	.31	etnerf	o	etnecayda	a	B	C	A	¸Î	1	=	odal	la	atseupo	1	=	etnecayda	=	¸Î	toc	¸Î	soc	1	=	etnecayda	asunetopih	1	=	etnecayda	asunetopih	=	¸Î	ces	¸Î	nis	1	=	atseupo	asunetopih	1	=	otseupo	asunetopih	=	¸Î	csc	.senoicnuf	satse	ertne	n³Ãixenoc	al	artseum	arbegl¡Ã	racilpA	.adreiuqzi	al	ed	soitar	sal
ed	It	is	operating	in	degrees.	SOLUTION:	Press	sin	38	=	0.615661475	THE	CALCULATOR	CALCULATOR	Sen	38°	=	0.616,	correct	to	three	decimals.	b.	Find	an	angle	given	the	ratio	when	you	find	the	size	of	the	angle	at	the	nearest	minute,	given	the	value	of	the	trigonometric	relationship,	just	follow	the	steps	in	the	examples	below.	Example:	sen	î	̧	=	0.725,	find	î	ì	in	the	nearest	minute	solution:	press	2ndf	without	0.725	=	46.46884783	to	convert	this	into	degrees/minutes/seconds,	press	2ndf	dâ	°	m.	TM	(minute	nearest)	15.	436	c.	Grades	and	minutes	so	far,
all	angles	have	been	in	whole	degrees.	However,	a	degree	can	be	divided	equally	in	60	minutes.	In	addition,	one	minute	can	be	divided	equally	in	60	seconds.	Angle	measurement	can	also	be	expressed	in	grade/minute	form.	We	can	use	a	calculator	to	convert	a	decimal	to	grade,	minute,	and	second	form	measure.	Example:	type	54.46	°	in	grade	and	minutes,	giving	a	correct	answer	to	the	nearest	minute.	Solution:	Press	54.46	°	2ndf	d	°	m	€	TM	is	the	calculator	grants	to	54	°	27	36,	or	54	°	28.	(minute	nearest)	Try	this	1.	Use	your	calculator	to	find	the	value	of
the	following,	correctly	to	two	decimals.	a.	cos	85	°	d.	cos	65	°	b.	without	7	°	E.	Tan	23	°	C.	Tan	35	°	2.	Using	the	deg/minute/second	button	in	your	calculator,	type	each	of	the	following	in	degrees	and	minutes,	give	answers	to	the	nearest	minute.	a.	17.8	°	d.	108.33	°	b.	48.52	°	E.	35.24	°	C.	63.7	°	3.	Find	the	size	of	the	angle	î	(in	the	nearest	degree)	where	î	is	acute.	a.	without	î	ù	=	0.529	d.	without	î	̧	=	0.256	b.	cos	î	î	=	0.493	e.	Tan	î	ù	=	0.725	c.	Tan	î	̧	=	1.8	4.	Find	m	â	î	î	,	at	the	nearest	minute,	since	î	î	î	̄	is	acute.	a.	without	îor	=	0.9	d.	cos	î	=	0.501	b.	cos	î	̧	=
0.013	e.	So	î	̧	=	2.3	c.	Tan	î	̧	=	0.958	16.	A.	Solving	a	right	triangle	given	the	measurement	of	the	two	parts;	The	length	of	the	hypotenuse	and	the	length	of	a	leg	that	resolves	a	right	triangle	meansThe	measure	of	the	remaining	parts.	Example:	triangle	bca	is	on	the	right	to	the	right	in	C.	C.	C	=	23	and	B	=	17,	find	âˆ	a,	âˆ	b	and	a.	Express	your	answers	to	two	decimal	places.	Solution:	Sketch	A	figure:	a.	Side	B	is	the	adjacent	side	of	âˆ	a;	C	is	the	hypotenuse	of	the	right	triangle	BCA.	Use	cah,	which	is	437	because	î¸	=	adjacent	hypotenuse	because	a	=	b	c	cos
a	=	17	23	because	a	=	0.7391	a	=	1	(0.7391)	b	a	c	=	23	c	a	b	=	17	we	can	use	our	scientific	calculator	to	find	An	É¡igle	whose	cosine	value	is	0.7391.	Using	a	scientific	calculator,	A	=	42,340	°	B.	As	in	part	(a),	it	was	already	found	that	âˆ	a	=	42.34	°,	then	âˆ	b	=	90	°	â	€	“42.34	°	âˆ	b	=	47.66	°.	c.	Using	the	Pythagorean	theorem:	a2	+	b2	=	c2	a2	+	(17)	2	=	(23)	2	a2	+	289	=	529	a2	=	529	-289	A2	=	240	A	=	240	A	=	15.49	Adjusto	Triass	The	right	in	C	if	C	=	27	and	âˆ	A	=	58	°,	find	âˆ	b,	b,	and	a.	17.	Solution:	a.	To	find	B,	since	B	and	âˆ	A	are	complementary
ones,	then	438	âˆ	b	+	âˆ	a	=	90	°	âˆ	b	=	90	°	â	€	“58	°	°	âˆ	b	=	32	°	B	a	c	a	c	=	27	C	b.	To	find	B,	since	B	is	the	adjacent	side	of	âˆ	A	and	C	is	the	hypotenuse	of	the	right	î	”BCA,	then	use	CAH.	because	î¸	=	adjacent	hypotenuse	because	a	=	b	c	cos	58	°	=	b	27	b	=	27	because	58	°	b	=	27	(0.5299)	b	=	14.31	c.	To	find	a,	since	one	is	the	opposite	side	of	âˆ	A	and	C	is	the	hypotenuse	of	the	right	î	”bca,	then	use	soh.	without	î¸	=	Hypotenusa	sin	opposed	A	=	a	sin	58	°	=	a	27	a	=	27	without	58	°	a	=	27	(0.8480)	a	=	22.9	C.	Solve	a	right	triam	given	the	length	of	one
leg	and	the	measurement	of	a	measure	of	a	Acute	information	Example:	the	triar	ACB	is	entangled	to	C.	If	âˆ	a	=	63	°	and	A	=	11	cm,	find	âˆ	b,	b,	and	c.	18.	Solution:	a.	To	find	âˆ	B,	take	note	that	âˆ	b	and	âˆ	to	439	are	complementary	ones.	Then,	âˆ	b	+	âˆ	a	=	90	°	âˆ	b	=	90	°	â	€	“63	°	âˆ	b	=	27	°	B	b.	To	find	B,	since	B	is	the	adjacent	side	c.	To	find	C,	since	C	is	the	opposite	side	of	âˆ	A,	then	hypotenuse	and	A	is	the	opposite	use	of	Toa.	on	the	side	of	âˆ	a,	Oa	soh.	♪	so	î	ù	=	opposite	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü
¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢Ü	¢	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â​a	â	a	=	52°	you	just	learned	the	definition	of	the	six	trigonometric	relationships.	make	sure	you	can
hear	them	in	the	activities	followed.	what	to	process	at	this	stage	will	solve	problems	that	involve	the	measurements	of	angles	or	sides	of	a	right	triangle	using	trigonometric	relationships.	according	to	activity	3:	surfing	trigonometry	plays	the	traditional	bingo	game	as	class	(activity	with	the	teacher.)	1.	make	your	own	bingo	card.	draw	a	grid	of	5	x	5,	and	number	the	squares	randomly	from	1	to	24	(assuming	a	"free	space"	or	from	1	to	25.	2.	There	must	be	a	"flame	person"	who	will	choose	a	random	number	from	1	to	24	by	using	a	spinner,	collecting	numbers
from	a	bag	or	generating	a	random	number	from	a	graphic	calculator.	3.	When	he/she	announces	the	number,	his	teacher	will	present	a	question.	oted	solves	the	problem	and	marks	theon	your	bingo	card	that	corresponds	to	the	number	of	questions.	4.	Bingo	is	achieved	in	the	normal	way	""	,	diagonally	or	vertically	(or	four	corners,	if	you	wish).	5.	Raise	your	hands	if	you	have	bingo.	6.	When	someone	wins,	everyone	(including	the	winner)	continues	playing	until	all	the	problems	have	been	solved,	or	until	there	are	5	or	6	winners.	7.	Your	teacher	will	collect
your	letter	after	the	game.	20.	441	Bingo	Question	Question:	1.	Did	the	activity?	Why?	2.	What	have	you	learned	from	the	activity?	3.	What	mathematical	concept	applied	to	respond	to	problems?	4.	How	will	you	use	the	concepts	you	have	learned	in	your	daily	life?	5.	Is	it	fun	to	study	mathematics?	Why?	Now,	he	has	learned	the	definition	of	the	six	trigonomy	relationships	and	could	use	them	to	find	the	missing	sides	or	units	of	an	acute	number	in	the	triam.	The	next	activity	will	help	you	dominate	the	concepts.	21.?	1.	Group	at	6	and	choose	your	line.	2.	Activity
sheets	will	be	given.	3.	You	have	15	minutes	to	respond	to	the	given	activity	and	discuss	among	you.	4.	The	Lãder	will	turn	to	each	group	to	discuss	or	share	results.	5.	A	volunteer	will	share	what	he/she	has	learned	in	the	activity.	(In	this	exercise,	all	the	measures	of	É¡igle	are	in	degrees,	and	the	lengths	of	the	sides	are	in	centales)	442	â	â	Print	this!	Using	the	figure	below,	write	the	expression	that	gives	the	unknown	value	required.	C	B	A	A	C	B	1.	If	A	=	15	°	and	C	=	37,	find	a.	2.	If	A	=	76	°	and	A	=	13,	find	b.	3.	If	A	=	49	°	and	A	=	10,	find	c.	4.	If	A	=	21.2
and	A	=	71	°,	find	b.	5.	If	a	=	13	and	b	=	16	°,	find	c.	6.	If	A	=	19	°	and	A	=	11,	find	c.	7.	If	C	=	16	and	A	=	7,	look	b.	8.	If	B	=	10	and	C	=	20,	find	a.	9.	If	A	=	7	and	B	=	12,	find	A.	10.	If	A	=	8	and	C	=	12,	find	B.	Use	the	figure	given	to	solve	the	remaining	parts	of	the	right	triangle	ACB.	B	C	C	A	B	â	intensent	this!	1.	B	=	17	cm	and	C	=	23	cm	2.	C	=	16	and	A	=	7	3.	B	=	10	AD	C	=	20	4.	B	=	and	C	=	13	5.	C	=	13	and	A	=	12	22.	Try	eAR!	Provide	this!	Provide	this!	this!	1.	â¿ccontrate	your	answers?	2.	âcuã¡s	are	the	concepts	mamommass	that	have	you	learned	in
activity?	3.	â¿t¿crees	what	can	I	apparent	these	concepts	in	your	daily	life?	â¿cã¿cã£3m?	â¿	poror	quã©?	Its	skills	to	concentrate	on	the	bad	things	and	faults	of	a	swarming	a	tripology	right	to	be	developed	by	travãs	of	the	previous	activities.	The	following	will	reflect	on	or	understanded	and	applied	six	six	in	wheat	relations.	Quã©	reflects	and	understands	in	this	secret,	his	object	is	verifying	his	understanding	of	the	swimming	the	sixty	relations	wheat	relations.	443	BEAUTIFUL	ONE	AND	BE	THREE	EVENT	ON	THE	RIGO	ABC	WITH	C,	DEDO	That:	1.	A	=	15
â°	and	c	=	37	2.	B	=	64	â°	and	c	=	19.2	3.	A	=	â°	and	c	=	25	a	=	45	â°	and	c	=	16	5.	B	=	56	â°	and	c	=	16	To	be	drawn	and	subsided	to	each	crew	of	ABC	con	ã¡ngo	rhythously	in	C.	a	=	13	2.	A	=	22	â°	and	b	=	22	3.	B	=	30	âo	and	B	=	11	4.	B	=	18	Â	and	a	=	18	5.	A	=	42	TOBEO	A	Figure.	And	resuelva	every	triã¡ngo	law	Ã¡ngo	in	c,	give	=	15.8,	B	=	21	2.	A	=	7,	B	=	12	3.	A	=	7	4.	A	=	7	4.	A	=	7	4.	A	=	7	4.	A	3.	â¡list!	â¡Exprique!	Study	the	lesson.	Luego	complete	lo	sguite.	1.	Use	the	following	figure	for	responding	to	the	siguientes.	UNA.	âcuã¡l	is	the	mainting	of
the	side	t?	b.	âcuã¡l	Is	the	measure	of	Ãë‟ë​b?	Ã¢êC?	C.	Ã¿cã¿kámo	the	measure	of	the	ã¡nggulolos?	T	2.	TRACIÃ3n	TrigociÃ3n	Trigonometrinal	or	the	relationship	of	b	that	involves	the	measure	of	hyptense.	3.	Explicit	cì3mo	determinar	quãi	Quãciã3n	crew	of	relación	£mbrãtriated	a	444-one	part	of	the	444	of	a	rhyenglo.	In	the	previous	activity,	the	discussion	is	about	its	knowledge	about	the	six	projects	of	wheat.	âcuã¡s	are	the	things	new	things	you	have	daven	you?	Ã¿crees	that	you	can	use	in	your	daily	life?	â¿como	y	por	quã©?	The	pãrã3xima	activity	the	​
ayudã¡	I	respond	to	this	question.	Quã	in	this	section	you	will	also	learn	how	to	make	and	use	a	clinometer,	ainstrument	used	to	measure	the	height	of	a	certain	object.	His	objective	is	now	to	apply	the	knowledge	he	has	learned	about	the	six	trigonomy	proportions.	Setting	activity	6:	The	objective	of	the	clinimeter:	make	a	clinimeter	and	use	it	to	measure	the	height	of	an	object.	REQUIRED	MATERIALS:	Ravenal	card,	small	pipe	or	straw,	thread,	a	weight	(a	metal	washing	machine	is	ideal)	knowledge	prior	to	the	requirement:	Properties	of	straight	triangles
Procedure:	(a)	Make	a	clinimeter:	1.	Adjust	a	protractor	in	a	cartoon	and	set	an	observation	tube	(straw	or	pipe)	along	the	diameter.	2.	Make	a	hole	(O)	in	the	center	of	the	semicircle.	3.	Suspend	a	weight	{w}	of	a	small	nail	fixed	to	the	center.	4.	Make	sure	the	weight	at	the	end	of	the	rope	hangs	under	the	protractor.	5.	Mark	the	degrees	(on	a	sexual	gemal	scale	with	00	in	the	lower	and	10	to	900	proceeding	both	in	a	torque	and	anti	-hydrial	sense).	[Figure	1].	C	B	T	15	8	24.	(b)	To	determine	the	height	of	an	object:	6.	First	measure	the	distance	of	your	object.
Let	the	distance	be	d.	7.	Look	through	the	straw	or	pipe	at	the	top	of	the	object.	Make	sure	you	can	clearly	see	the	445	upper	part	of	the	object.	8.	Hold	the	stable	clinimeter	and	let	your	partner	register	the	number	that	the	chain	performs	on	the	clinimeter	scale.	Let	this	unit	be	ã®â¸.	9.	Determine	the	height	of	the	object.	10.	Write	your	observation.	You	can	change	the	distance	from	the	object	(either	by	moving	the	object	or	changing	your	position)	and	observing	how	the	elevation	É¡mo	varies.	Questions:	1.	What	have	you	noticed	after	doing	the	activity?	2.
How	did	you	find	the	height	of	the	object?	3.	What	else	or	devices	can	suggest	to	solve	the	same	type	of	problem?	25.?	trigonometric.	2.	Draw	an	illustration.	3.	Write	a	paragraph	explaining	how	the	height	of	the	tree	was	calculated.	4.	Determine	the	other	trigonometric	trigonometry5.	What	learning	have	you	discovered	when	doing	such	an	activity?	Can	you	use	this	in	your	life?	How	did	and	why?	In	this	section,	its	task	was	to	measure	the	height	of	an	Ã¡robol	using	trigonomomic	relationship.	How	did	the	performance	task	find?	How	did	the	task	to	make	the
application	of	real	life	concepts	help	you?	Summary/synthesis/generalization	This	lecion	was	on	the	six	trigonomã	©	tricas	ratios.	Various	activities	were	provided	to	help	you	illustrate	and	define	the	six	trigonomã	©	tricas	ratios.	He	also	learned	to	use	them	to	find	the	lost	sides	and	units	of	a	right	triam	and	applied	them	to	real	-life	situations.	His	knowledge	in	this	lecion	will	help	you	understand	the	following	theme,	that	is,	trigonomã	©	tricas	of	special	entries.	26.	Trigonomã	©	Tricios	de	Égulús	special	447	2	Quã	©	know	in	this	lecion	will	use	the	concepts
you	have	learned	in	the	previous	lessons	to	evaluate	the	trigonomomas	ratios	of	special	entries.	There	are	two	triples,	the	isosceles	and	equilibrium	triples	that	are	frequently	used	in	mathematics	to	generate	exact	values	​​for	trigonomã	©	tricas.	Consider	the	activities	that	have	ã	©	xito	to	develop	the	mastery	of	this	topic.	Activity	1:	special	triangles	&	GT;	Exact	values	​​forms	two	groups	to	do	the	activity	below.	Share	your	output	in	class.	Case	1:	1.	In	a	piece	of	paper,	draw	a	square.	2.	Establish	the	length	of	each	side	to	1.	3.	Cut	the	square	along	a	diagonal.
What	triangles	are	formed?	4.	Indicate	the	straight	in	the	triam.	5.	Determine	the	exact	length	of	the	hypotenuse	using	the	Pythagorean	theorem.	6.	LEADS	THE	HYPOTANUSA	AND	ALL	THE	SAMES	AND	INGLES.	7.	Write	the	trigonomã	©	tricas	ratios	for	45	°	(soh	â	€	“cah	â	€”	toa)	8.	Rewrite	the	trigonomã	©	tricas	primary	with	rationalized	denominators.	Case	2:	1.	A	paper	piece	of	paper,	carving	a	triã¡ngo	equilã¡ter.	2.	Stone	the	Longitud	of	every	side	by	2.	3.	Ãcuã¡to	those	are	the	measures	of	the	ã¡nggulos	of	the	tribute?	Triaty?	al	secev	2(	esunetopiH	°Â
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anreip	3	=	agral	s¡Ãm	anreip	atroc	s¡Ãm	anreip	2	=	asunetopih	sanreip	2	=	asunetopih	atroc	s¡Ãm	anreip	al	ed	dutignol	944	¬​â	¯Ã	)t	a	3	3	otutitsus(	3	6	=	3	3	§Â	¯Ã	2	=	s	)atroc	s¡Ãm	anreip	2	=	asunetopih(	t2	=	s	=	t	)atroc	s¡Ãm	anreip	3	=	anreip(	agral	s¡Ãm	aL	3	T	=	9	9	S	°Â	03	°Â	06	T	°Â	54	°Â	54	8	M	°Â	54	°Â	54	.c	6	=	2	3	·Â	2	=	R	2	8	=	8	·Â	2	=	M	R	3	3	.b	.a	al	secev	3	se	agral	s¡Ãm	anreip	al	ed	dutignol	al	"anreip	anu	ed	dutignol	al	,atroc	s¡Ãm	anreip	al	ed	dutignol	2	se	asunetopih	al	ed	dutignol	al	ed	elbod	le	se	asunetopih	al	ed	dutignol	aL"	;setneurgnoc
nos	sanreip	saL"	;°Â	09	ed	olugn¡Ãirt​​â	¬​â	¢Ã	06	°Â	06	"°Â	06"	°Â	06	"°Â	03	ed	olugn¡Ãirt	nu	ne	,°Â	09	ed	olugn¡Ãirt"	°Â	54	"°Â	54	nu	ne	ohcered	olugn¡Ãirt	led	ameroeT	°Â	09"	°Â	06	"°Â	03	ohcered	olugn¡Ãirt	led	ameroeT	°Â	09"	¬​â	¢Ã	°Â	54	=	______	Sec	45Ã¢	Â°	=	______	cos	45	Â°	=	______	csc	45	Â°	=	______	tan	45Ã¢	Â°	=	______	cot	45Ã¢	Â°	=	______	Sea	A	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	the	leg	of	a	30​Ã°Â	¢Ã​Â​Â	60​Ã°Â	¢Ã​Â​Â	90​Ã°Â	Triangle.
30​Ã°Â	2a	60​Ã°Â	a	a	3	sin	30​Ã°Â	=	______	sec	30​Ã°Â	=	______	cos	30​Ã°Â	=	______	csc	30​Ã°Â	=	______	tan	30​Ã°Â	=	______	cot	30​Ã°Â	=	______	451	What	to	Process	In	this	section,	you	will	study	how	to	find	the	trigonometric	ratios	of	special	angles.	The	succeeding	activities	will	deepen	your	understanding	of	the	concepts	you	learned	from	the	previous	lesson.	¢Ã​Â¤Â	Activity	4:	What	Makes	You	Special?	1.	Given	the	angles	of	the	triangles	below,	find	the	values	of	the	six	trigonometric	ratios.	Then	answer	the	questions	that	follow.	31.	Let	a	be	the	shorter	leg	of	a
30​Ã°Â	¢Ã​Â​Â	60​Ã°Â	¢Ã​Â​Â	90​Ã°Â	triangle.	30​Ã°Â	60​Ã°Â	2a	a	3	a	sin	60​Ã°Â	=	______	sec	60​Ã°Â	=	______	cos	60​Ã°Â	=	______	csc	60​Ã°Â	=	______	tan	60​Ã°Â	=	______	cot	60​Ã°Â	=	______	2.	Complete	the	table	below	that	summarizes	the	values	of	the	trigonometric	ratios	of	the	angles	452	30​Ã°Â,	45​Ã°Â	and	60​Ã°Â.	TRIGONOMETRIC	RATIOS	OF	THE	ANGLES	​Ã¸Â	sin	cos	tan	csc	sec	cot	30​Ã°Â	45​Ã°Â	60​Ã°Â	Questions:	1.	How	did	you	find	the	values?	2.	What	did	you	discover	about	the	values	you	obtained?	3.	What	do	you	think	makes	these	angles	special?	Why?	Now
that	you	know	the	values	of	the	trigonometric	ratios	of	special	angles	of	a	right	triangle,	you	are	now	ready	to	apply	these	concepts	by	doing	the	next	activity.	32.	What	to	REFLECT	and	understand	In	this	section	you	will	learn	the	process	of	determining	the	values	of	expressions	involving	trigonometric	ratios	of	special	angles	even	without	the	use	of	a	calculator.	Remember	that	the	two	special	right	triangles	are	the	30​Ã°Â	¢Ã​Â​Â	60​Ã°Â	¢Ã​Â​Â	90​Ã°Â	triangle	and	the	isosceles	(45​Ã°Â	¢Ã​Â​Â	45​Ã°Â	¢Ã​Â​Â	90​Ã°Â)	triangle.	Using	the	table	of	values	in	the	previous
activity,	consider	the	following	examples.	Example	1:	Determine	the	exact	value	of	the	expression	sec	30​Ã°Â	+	cot	60​Ã°Â.	Solution:	453	sec	30​Ã°Â	+	cot	60​Ã°Â	=	2	3	3	+	3	3	=	3	3	3	=	3	Example	2:	Find	the	exact	value	of	sin2	30​Ã°Â	+	cos2	45​Ã°Â.	Solution:	sin2	30​Ã°Â	+	cos2	45​Ã°Â	=	(sin	30​Ã°Â)2	+	(cos	=	1	2	âž	›âž	âžœ	âžž	2	+	2	2	âž	âžž	âž	âž	2	=	1	4	+	2	4	=	3	4	Example	3:	Determine	the	value	of	ã	ANGLE	X	When	sec	x	=	2	solution:	referring	to	the	table,	sec	60	°	=	2.	Therefore,	x	=	60	°	Example	4:	If	x	=	45	°,	show	that	sec2	x	+	tan	x	=	3	solution	:
Replace	X	with	45	°,	we	have	Sec2	45	°	+	Bronze	45	°	=	(second	45	°)	2	+	tan	45	°	=	(2)	2	+	1	=	2	+	1	=	3	33).	Are	the	Triangles	of	30	°	°	€	“60	°	€“	90	°	similar	between	sã?	Explain.	â	€	¢	Suppose	you	know	the	length	of	one	side	of	a	triangle	of	30	°	â	€	“60	°	€“	90	°,	how	can	you	determine	the	lengths	of	the	remaining	sides	without	measuring	them	directly?	The	following	activity	helps	you	deepen	your	understanding	about	the	Trigonomã	©	Tricas	de	Égulos	special	ratios.	You	will	also	need	your	knowledge	of	the	radicals.	Activity	5:	You	have	completed	me!
Look	for	a	company.	Use	the	options	in	the	box	to	complete	the	equations	below.	The	calculator	is	not	allowed.	without	30	°	1	2	6	2	9	4	without	60	°	1	1	2	tan	45	°	2	4	CSc	60	°	1.	cos	30	°	+	________	=	9.	3	CSc	60	°	â	€	“_______	=	2.	Without	30	°	°	â	€	because	60	°	=	____________	10.	Without	45	°	(so	45	°	â	€	“cos	60	°)	=	30________________________________________________________________________	2.	What	mathematical	concepts	remembers	and	uses	to	find	the	exact	values?	3.	Do	you	think	these	concepts	are	important?	Why?	4.	How	will	it	be	anu	a	sallim	2.1	ojudnoc
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n³Ãiculos	al	ertseuM	.asac	al	ed	odatsoc	le	noc	°Â	03	ed	olugn¡Ã	nu	recah	arap	ogral	s¡Ãm	ocid©Ãpotro	otarapa	odnuges	nu	noracoloc	,oleus	le	ne	ragul	omsim	le	ne	,ogeuL	.°Â	54	ed	olugn¡Ã	nu	ne	odal	us	artnoc	m	8	ed	ocid©Ãpotro	otarapa	nu	noracoloc	serodajabart	sol	,asac	anu	³Ã±Ãad	,"tagavaH"	rop	sod​Ãart	setreuf	sotneiv	ed	s©ÃupseD	)asac	al	ed	n³ÃicarapeR(	:3	osaC	.atelpmoc	n³Ãiculos	ut	noc	amelborp	le	artsulI	.sortem	21	ed	osunetopih	nu	noc	°Â	09	"°Â	06"	°Â	06	ed	°Â	03	ed	olugn¡Ãirt	nu	odnasu	revloser	adeup	euq	laer	adiv	al	ed	amelborp	nu
abircsE	)amelborp	oiporp	le	ralumrof(	:2	osaC	.atseupser	ut	acilpxE	?odreuca	ed	s¡Ãtse	etnaidutse	©Ãuq	noC¿Â	.satcerroc	res	na​Ãdop	on	sedutignol	sal	euq	ojid	aniG	.ahcered	al	a	olugn¡Ãirt	le	³Ãjubid	sengA	)serorre	ed	sisil¡ÃnA(	:1	osaC	.adilas	us	ratneserp	ebed	opurg	adaC	.saerat	setneiugis	sal	razilaer	arap	5	ne	¡Ãrapurga	eS	n³ÃicacilpA	:6	dadivitcA	¤Â¾Å¢Ã	.ejazidnerpa	us	rartsomed	arap	aerat	anu	¡Ãrad	el	eS	.laer	adiv	al	ed	senoicautis	a	n³Ãiccel	al	ed	n³Ãisnerpmoc	us	racilpa	se	ovitejbo	le	,n³Ãicces	atse	ne	rirefsnart	©ÃuQ	.laer	adiv	al	ed	senoicautiS	554
R	Q	P	P	P	M8	°Â	54	°Â	03	01	°Â	06	°Â	03	03	5	3	5	ne	sotpecnoc	sotse	rasu	arap	otsil	¡Ãtse	arohA	.selaicepse	solugn¡Ã	ed	sacirt©Ãmonogirt	senoicroporp	ne	noS-seL	le	etnematelpmoc	odidnerpa	ah	,n³Ãicces	atse	nE	?etnematcerroc	dadivitca	al	rednopser	etsiduP¿Â	.43	0	°Â	03	toc	4	7	?laer	adiv	al	ed	n³Ãicautis	ne	sotpecnoc	sotse	asU¿Â	observation.	the	initial	observation	from	that	moment	is	the	angle	between	the	ground	and	the	line	of	view	to	the	globe	is	approximately	30	°.	How	high	was	the	balloon	at	that	point?	(Suppose	the	wind	speed	was	low	o
n³Ãicartsuli	al	ebircseD	.2	?dadivitca	al	³Ãrtnocne	om³ÃC¿Â	.1	:senoitseuC	.73	.4	.3	.2	.1	severb	sarutcurtse/sotejbO	.b	.4	.3	.2	.1	sarutcurtse/sotejbo	llaT	.a	:ed	n³Ãicartsuli	anu	recah	y	n³Ãicatibah	al	ed	areuf	rilaS	¢​â	.ateuqite	y	sojo	sut	omoc	atcaxe	arutla	al	ne	¡Ãtse	euq	otejbo	nu	artneucne	y	n³Ãicatibah	al	ed	rodederla	etev©ÃuM	¢​â	.seip	sol	y	sojo	sol	ertne	aicnatsid	al	ridem	arap	atnic	ed	adidem	anu	esU	¢​â	.neugis	euq	satnugerp	sal	adnopser	y	n³Ãicaunitnoc	a	sosap	sol	agiS	!ojaba	ariM¡Â	!odadiuC¡Â	:1	dadivitcA	.laer	adiv	al	ed	samelborp	ed	n³Ãiculos	al	ne
sotpecnoc	sotse	racilpa	arap	sasotixe	sedadivitca	sal	razilaeR	.satnugerp	satse	rednopser	a	n¡Ãraduya	et	roiretna	n³Ãiccel	al	ne	odidnerpa	sah	euq	sacirt©Ãmonogirt	soitar	saL	?etnanrebog	nu	odnasu	otreuporea	nu	a	n³Ãiva	le	edsed	oleus	led	ogral	ol	a	aicnatsid	al	etnematcerid	rartnocne	elbisop	sE¿Â	.oleus	le	erbos	arutla	atreic	anu	odnalov	¡Ãtse	n³Ãiva	nU	?a±Ãatnom	al	ed	arutla	al	etnematcerid	¡Ãridem	om³Ãc¿Â	,olbeup	odanimreted	nu	ne	ojaba	aicah	odnarim	a±Ãatnom	anu	ed	amic	al	ne	¡Ãtse	detsu	euq	somagnopuS	rebaS	©ÃuQ	3	754	n³ÃiserpeD	ed
solugn​Ã	y	n³ÃicavelE	ed	solugn​Ã	.63	.n³Ãiserped	ed	olugn¡Ã	y	n³Ãicavele	ed	olugn¡Ã	le	:n³Ãiccel	etneiugis	al	ne	ejazidnerpa	us	ratilicaf	a	n¡Ãraduya	el	sodidnerpa	etnemaiverp	sotpecnoc	sorto	y	n³Ãiccel	atse	ed	n³Ãisnerpmoc	uS	.n³Ãiccel	atse	ne	etsidnerpa	euq	ol	nacilpa	euq	sedadivitca	sanugla	recah	ed	dadinutropo	al	oid	et	eS	.selaicepse	solugn¡Ã	sotse	ed	sacirt©Ãmonogirt	soitar	sal	raulave	om³Ãc	odaidutse	ah	n©ÃibmaT	.°Â06	y	°Â54	,°Â03	selaicepse	soduga	solugn¡Ã	sol	odartsuli	aH	.selaicepse	solugn¡Ã	ed	sacirt©Ãmonogirt	soitar	sal	erbos	euf	n³Ãiccel
atsE	N​ÃICAZILARENEG/SISEHTNYS/NEMUSER	?sotpecnoc	sotse	razilitu	a	sav	om³Ãc	y	odn¡ÃuC¿Â	?airaid	adiv	ut	ne	rasu	sedeup	socit¡Ãmetam	sotpecnoc	©Ãuq¿Â	,senoiccel	sal	eD	?opurg	ut	ed	etsidnerpA¿Â	?dadivitca	al	³Ãrtnocne	om³ÃC¿Â	n³Ãiculos	us	rartsoM	.b	.n³Ãicautis	al	rajubiD	.a	).sotunim	soremirp	sol	etnarud	etnemlacitrev	³Ãibus	obolg	le	euq	that	you	have	created	from	the	activity.	3.	What	mathematical	concepts	have	you	learned	learned	y	n³Ãicavele	ed	olugn¡Ã	le	,n³Ãisiv	ed	aen​Ãl	al	ribircsed	y	racifitnedi	a	rednerpa	ed	abacA	.n³Ãiserped	ed	064
x	°Â	14	42.51	olugn¡Ã	y	n³Ãicavele	ed	olugn¡Ã	narculovni	euq	adiv	ut	ne	senoicautis	sod	sonem	la	artsuli	e	©ÃD	.4	?airaid	adiv	ut	ne	saedi	satse	rasu	sedeup	euq	seerC¿Â	.3	?dadivitca	atse	ed	odidnerpa	sah	saedi	©ÃuQ¿Â	.2	?n³Ãiserped	ed	olugn¡Ã	y	n³Ãicavele	ed	olugn¡Ã	,n³Ãisiv	ed	aen​Ãl	al	³Ãcifitnedi	om³ÃC¿Â	.1	:satnugerP	.93	n³Ãisiv	ed	aen​ÃL	n³Ãiserped	ed	olugn​Ã	954	n³Ãicavele	ed	olugn​Ã	arugiF	.n³Ãiserped	ed	olugn¡Ã	le	o	n³Ãicavele	ed	olugn¡Ã	le	natneserper	euq	)yah	sol	is(	solugn¡Ã	sol	acifitnedi	e	n³Ãisiv	ed	aen​Ãl	al	atneserper	euq	otnemges	le
euqifitnedi	,sarugif	setneiugis	sal	nE	!emedn©ÃdI¡Â	:2	dadivitcA	¤Â¾Å¢Ã	.83	.sedadivitca	setneiugis	sal	ed	s©Ãvart	a	airaid	adiv	al	ne	samelborp	revloser	y	rarolpxe	ed	dadinutropo	al	¡Ãranoicroporp	el	es	,n³Ãicces	atse	nE	.samelborp	selat	revloser	arap	solrasu	arap	otsil	¡Ãtse	aroha	,n³Ãiserped	ed	olugn¡Ã	le	y	n³Ãicavele	ed	olugn¡Ã	le	ne	sotpecnoc	sol	rednerpa	ed	s©Ãupsed	rasecorp	©ÃuQ	854	rodavresbo	led	ojabed	n³Ãisiv	al	ed	n³Ãisiv	al	ed	n³Ãisiv	al	ed	olugn¡Ã	led	latnoziroh	aen​ÃL	rodavresbo	led	n³Ãicavele	ed	olugn¡Ã	le	erbos	ojo	led	n³Ãisiv	ed	aen​ÃL
.n³Ãicaunitnoc	a	otejbo	la	rodavresbo	led	n³Ãisiv	ed	aen​Ãl	al	atsah	latnoziroh	al	edsed	olugn¡Ã	le	se	n³Ãiserped	ed	olugn¡Ã	lE	.abirra	ed	otejbo	la	rodavresbo	led	n³Ãisiv	ed	aen​Ãl	al	atsah	latnoziroh	al	edsed	olugn¡Ã	le	se	n³Ãicavele	ed	olugn¡Ã	lE	.avresbo	es	euq	otejbo	le	noc	rodavresbo	nu	ed	ojo	le	atcenoc	euq	airanigami	aen​Ãl	anu	se	n³Ãisiv	ed	aen​Ãl	al	:senoicinifeD	.n³Ãiserped	ed	olugn¡Ã	le	y	n³Ãicavele	ed	olugn¡Ã	le	,n³Ãisiv	ed	aen​Ãl	al	omoc	,sovitacifingis	sonimr©Ãt	sonugla	ed	otneimiconoc	ereiuqer	sotcerroc	solugn¡Ãirt	narculovni	euq	laer	adiv	al	ed
samelborp	revloseR	?dadivitca	al	ne	odaremune	ah	euq	otejbo	led	aicnatsid	al	,arutla	al	etnematcerid	ridem	sedeup	euq	seerC¿Â	.4	?ojaba	aicah	sarim	odnauc	asap	©ÃuQ¿Â	?odamrof	olugn¡Ã	nu	yah¿Â	,sotla	sotejbo	a	sarim	odnauC	?dadivitca	al¿Â	depression	angle.	The	next	activity	will	help	you	solve	these	problems.	The	study	of	rop	sadatneserp	seneg¡Ãmi	sal	rartsuli	la	n³Ãisicerp	us	rallorrased	:ovitejbO	!amelborp	im	ajubiD¡Â	:3	dadivitcA	¤Â¾Å¢Ã	.14	.errot	al	ed	odal	omsim	led	neneiv	euq	odneinopus	,seuqub	sod	sol	ertne	aicnatsid	al	ertneucnE	.°Â	53	y	°Â
24	nos	n³Ãiserped	ed	solugn¡Ã	sol	euq	³ÃvresbO	.oraf	le	aicah	etnematcerid	na​Ãvom	es	euq	senoicacrabme	sod	oiv	ram	led	levin	le	erbos	m	8.84	a	oraf	nu	ne	rodavresbo	nU	.2	?errot	al	¡Ãtse	atla	nat	©ÃuQ¿Â	.°Â	64	ed	se	errot	al	ed	roirepus	etrap	al	a	n³Ãicavele	ed	olugn¡Ã	lE	.oidar	ed	errot	al	ed	esab	al	ed	sortem	004	a	¡Ãtse	atsinoisrucxe	nU	.1	.samelborp	sotse	rednopser	arap	e​Ãug	ol	euq	ortseam	us	a	elridep	edeuP	!otse	abeurP¡Â	7666.0	=	¸Â®Ã	nat	6	4	=	¸Â®Ã	nat	etnecayda	otseupo	=	¸Â®Ã	naT	:n³ÃiculoS	?otreuporea	le	atsah	n³Ãiva	le	edsed	n³Ãiserped
ed	olugn¡Ã	le	se	l¡ÃuC¿Â	.sortem³Ãlik	6	ed	se	otreuporea	le	atsah	n³Ãiva	le	edsed	oleus	led	ogral	ol	a	aicnatsid	aL	.oleus	le	erbos	sortem³Ãlik	4	ed	arutla	anu	a	aleuv	n³Ãiva	lE	nA	:2	olpmejE	164	°Â	96.33	=	¸Â®Ã	)7666.0(	1​​â	¬​â'	nat	=	.04	°Â	14	nat	42.51	°Â	¢Ã14	nat	=	°Â	¢Ã14	nat	x	42.51	=	°Â	¢Ã14	nat	42.51	x	=	°Â	¢Ã14	nat	etnecayda	otseupo	=	¸Â®Ã	nat	.onesoc	o	ladiosunis	n³Ãicaler	anu	se	secnotne	,amelborp	led	etrap	se	osunetopih	le	iS	.etnegnat	n³Ãicaler	anu	se	secnotne	,amelborp	led	etrap	nos	olugn¡Ãirt	led	satap	sod	iS	.etnatlaf	n³Ãicidem	al	arap
esrevloser	edeup	ogeul	euq	,n³Ãicauce	anu	recelbatse	a	aduya	son	odunem	a	acirt©Ãmonogirt	n³Ãicaler	anu	:senoiculoS	?errot	al	ed	esab	al	ed	rodavresbo	le	¡Ãtse	aicnatsid	©Ãuq	A¿Â	.°Â	14	ed	se	roirepus	etrap	al	a	n³Ãicavele	ed	olugn¡Ã	le	euq	animreted	rodavresbo	nu	,errot	al	ed	aicnatsid	atreic	A	.arutla	ed	m	42,51	eneit	errot	anU	:1	olpmejE	.n³Ãiserped	y	n³Ãicavele	ed	solugn¡Ã	narculovni	euq	samelborp	revloser	arap	esrasu	nedeup	sacirt©Ãmonogirt	senoicaler	saL	.olugn¡Ãirt	led	solugn¡Ã	sol	ed	sadidem	sal	y	sodal	sol	ed	sedutignol	sal	rartnocne	acifingis
olugn¡Ãirt	nu	revloser	,radrocer	araP	.solugn¡Ãirt	narculovni	euq	socirt©Ãmoeg	samelborp	ne	noranigiro	es	senoicroporp	saL	.2	.2	.oicos	nu	euqsuB	.1	:senoiccurtsnI	ojubid	ed	selairetaM	y	rotcatorP	,algeR	:selairetaM	.sodad	sarbalap	ed	samelborp	sol	ne	n³Ãicamrofni	the	images	presented	by	the	information	in	the	problems	given.	(These	problems	462	do	not	ask	for	an	answer.)	3.	Suppose	the	buildings,	stairs,	etc.	They	are	all	in	level	of	level.	4.	Clear,	clean	and	precise	illustrations	are	necessary.	1.	The	elevation	unit	of	the	upper	part	of	the	building	from	a
point	to	30	meters	of	the	building	is	65	°.	2.	The	depressing	unit	of	a	child	from	a	point	in	a	lighthouse	30.5	meters	above	the	surface	of	the	water	is	3	°.	3.	If	an	avione	that	crosses	an	altitude	of	9	km	wants	to	land	in	Naia,	it	must	begin	its	descent	so	that	the	depressing	unit	to	the	airport	is	7	°.	4.	A	péjaro	sits	on	top	of	a	5	meter	post.	The	depressing	of	depression	from	the	péjaro	to	the	feet	of	an	observer	who	moves	away	from	the	lighthouse	is	35	°.	5.	Two	points	on	the	same	side	of	a	tree	are	19.8	meters	away.	The	elevation	frames	of	the	upper	part	of	the
ã¡robol	are	21	°	from	one	point	and	16	°	from	the	other	point.	Questions:	1.	How	did	the	activity	found?	2.	Did	you	find	any	difficulty	in	illustrating	the	problems?	3.	What	mathematical	concepts	did	you	apply	to	have	an	exact	illustration?	4.	Based	on	the	drawings	you	have,	how	will	it	define	the	elevation	of	depressing	and	the	number	of	depression	using	your	own	words?	You	just	learned	and	practice	how	to	draw	images	presented	by	the	information	in	the	problems	given.	Using	this	ability	you	can	now	illustrate	and	solve	similar	problems	that	imply	elevation
and	depressing	levels.	42.	You	just	learned	and	practice	how	to	draw	images	presented	by	the	information	in	the	problems	given.	Using	this	ability	you	can	now	illustrate	and	solve	similar	problems	that	imply	elevation	and	depressing	levels.	What	to	do	to	reflect	and	understand	in	this	section,	will	illustrate	and	solve	the	problems	that	imply	the	elevation	and	the	information	of	depression.	You	will	also	use	the	:4	:4	dadivitcA	,	.roiretna	dadivitca	al	ne	³Ãiriuqda	euq	sal	ranimreted	arap	senoicidem	rasu	y	sedutignol	ridem	¡ÃrdoP	.n³Ãiserped	y	n³Ãicavele	ed
solugn¡Ã	rartnocne	arap	etnegnat	y	anesoc	,ladiosunis	senoicaler	racilpa	¡ÃrdoP	.odaerc	ortem³Ãnilc	us	¡Ãrazilitu	dadivitca	amix³Ãrp	aL	.dadivitca	amix³Ãrp	al	odnamot	otse	recah	sedeup	,arohA	?socit¡Ãmetam	sotpecnoc	sotse	rasu	om³Ãc	erbos	laer	adiv	al	ed	aicneirepxe	al	noc	asap	©ÃuQ¿Â	.sacirt©Ãmonogirt	senoicaler	sal	ed	sotpecnoc	setnerefid	sol	³Ãcilpa	n©ÃibmaT	.n³Ãiserped	ed	olugn¡Ã	le	y	n³Ãicavele	ed	olugn¡Ã	le	narculovni	euq	sarbalap	ed	samelborp	revloser	a	rednerpa	ed	abacA	.adiv	us	ne	sotpecnoc	sotse	rasu	odatnemirepxe	ayah	euq	le	ne
olpmeje	nu	©ÃD	.5	?airaid	adiv	us	ne	sotpecnoc	sotse	setnatropmi	nos	om³ÃC¿Â	.4	?etsacilpa	socit¡Ãmetam	sotpecnoc	©Ãuq	y	etsivloser	sol	om³ÃC¿Â	.3	?amelborp	le	ne	adatneserp	n³Ãicamrofni	al	³Ãrtsuli	om³ÃC¿Â	.2	?sodad	samelborp	sol	erbos	odaton	ah	©ÃuQ¿Â	.1	:satnugerP	.acor	al	atsah	n³Ãiva	le	edsed	latnoziroh	aicnatsid	al	artneucnE	.°Â	82	edim	oleus	le	ne	acor	anu	a	n³Ãiserped	ed	olugn¡Ã	le	,m	0021	ed	dutitla	anu	a	n³Ãiva	nu	edseD	.5	?etob	le	¡Ãtse	odalitnaca	led	esab	al	464	ed	sojel	nat	©ÃuQ¿Â	.°Â	52	ed	se	etob	nu	ed	n³Ãiserped	ed	olugn¡Ã	le
,arutla	ed	sortem	082	ed	odalitnaca	nu	ed	roirepus	etrap	al	edseD	.4	.lortnoc	ed	errot	al	ed	roirepus	etrap	al	edsed	n³Ãiva	led	n³Ãiserped	ed	olugn¡Ã	le	ertneucne	,errot	al	ed	esab	al	ed	m	071	a	¡Ãtse	n³Ãiva	le	iS	.ojabed	oleus	le	ne	ev	es	n³Ãiva	nu	,arutla	ed	m	052	ed	lortnoc	ed	errot	al	ed	roirepus	etrap	al	edseD	.3	.34	?aniloc	al	ed	esab	al	edsed	etob	le	¡Ãtse	aicnatsid	©Ãuq	A¿Â	.°Â	21	ed	se	sortem	29	ed	aniloc	anu	ed	roirepus	etrap	al	atsah	etob	nu	edsed	n³Ãicavele	ed	olugn¡Ã	lE	.2	.los	la	n³Ãicavele	ed	olugn¡Ã	le	artneucnE	.sortem	91	ed	arbmos	anu	etime
arutla	ed	sortem	21	ed	etsop	nU	.1	:n³Ãiculos	ed	samelborp	odazilitU	alumr³ÃF	?ranimreted	ebed	es	©ÃuQ¿Â	?nad	es/se	©ÃuQ¿Â	.amargaid	le	ajubiD	364	.n³Ãicaunitnoc	a	allitnalp	al	esU	.samelborp	setneiugis	sol	avleuser	y	artsuli	ogeul	,oicos	nu	euqsuB	!revloser	Y¡Â	of	É¡ngles.	What	to	transfer	in	this	section,	its	objective	is	to	apply	its	understanding	of	the	leccion	The	angle	of	elevation	and	depression	to	real	life	situations.	you	will	be	given	a	task	to	demonstrate	this	learning.	44.	âž¤	activity	5:	What	can	I	learn	from	my	shadow?	objectives:	â€¢	to	apply
sinus,	cosine	and	tangent	relationships	to	find	angles	of	elevation	and	depression.	â€¢	to	measure	lengths	and	oar	measurements	to	determine	angle	measurements.	materials:	metric	tape,	clinometer	instructions:	must	be	in	groups	of	four	members	to	perform	the	activity.	Procedure:	1.	measure	the	height	of	a	member	in	the	group.	2.	measure	the	length	of	your	shadow.	3.	By	hearing	what	you	know	about	trigonometric	relationships,	determine	the	angle	of	elevation	from	the	ground	to	the	sun.	(draw	an	image	of	the	situation	that	will	help	in	its	calculation.)	4.
measure	the	shadow	of	the	object.	5.	Using	the	elevation	angle	and	the	measurement	of	the	shadow,	hear	what	you	know	about	trigonometric	relationships	to	determine	the	height	of	the	object.	(draw	an	image	of	the	situation	that	465	will	help	you	in	your	calculation)	questions:	1.	What	have	you	learned	in	the	activity?	2.	Can	the	sinus	or	the	cosine	of	an	angle	be	greater	than	1?	if	so,	why?	3.	type	a	problem	that	applies	angles	of	elevation	and	depression;	show	an	ilotration	with	a	complete	solution.	Summary/synthesis/generalization	in	this	lesson	has	studied
how	to	lot	and	solve	problems	involving	lifting	angle	and	depression	angle.	he	was	given	the	opportunity	to	perform	activities	that	helped	him	identify	and	define	the	angle	of	elevation	and	the	angle	of	depression	through	ilotrations.	He	has	also	learned	that	by	solving	problems	he	should	draw	a	detailed	diagram	to	help	him	visualize	them.	These	concepts	he	has	just	learned	will	help	him	get	to	the	next	lesson.	45.	466	Activity	Sheet:	What	can	I	learn	from	my	shadow?	Name:	_________________________________	Date:	______________	Group	members:	setnaidutsE
setnaidutsE	roiretna	dadivitca	aL	?satcerroc	senoicaler	sal	etsiugesnoc	om³ÃC¿Â	.3	?satcerroc	naes	satseupser	sus	euq	azitnarag	©ÃuQ¿Â	.2	?©Ãuq	roP¿Â	?dadivitca	al	litºÃ	odartnocne	saH¿Â	.1	:satnugerP	.74	p	q	R	2	.giF	1	.giF	b	A	C	B	b	a	p	r	q	p	cb	.e	P	ces	.5	.d	P	toc	.4	.c	P	nis	.3	.b	A	soc	.2	.a	A	nat	.1	B	anmuloC	A	anmuloC	Q	r	P	c	a	.B	anmuloc	al	ne	adartnocne	atcerroc	n³Ãicaler	al	noc	A	anmuloc	al	ne	odartnocne	ocirt©Ãmonogirt	otpecnoc	adac	nedicnioc	,2	y	1	sarugif	odnasU	otcefrep	oditrap	lE	:1	dadivitcA	dutital	.2	dadivitca	al	y	1	dadivitca	al	ed
s©Ãvart	a	sotpecnoc	sotse	somedrocer	,n³Ãiccel	aveun	al	a	redecorp	ed	setnA	.n³Ãiccel	aveun	al	odneidnerpa	amelid	nu	ne	sa​Ãratse	,sotpecnoc	sotse	ed	otneimiconoc	niS	.sotpecnoc	sotse	ne	ralcna	nedeup	es	ohcered	solugn¡Ãirt	sol	ne	laer	adiv	al	ed	samelborp	sohcuM	.sotcer	solugn¡Ãirt	nacilpmi	euq	sarbalap	ed	samelborp	revloser	arap	selaicnese	nos	3	y	,2	,1	senoiccel	sal	ne	noreitucsid	es	euq	sacirt©Ãmonogirt	soitar	ed	sotpecnoc	soL	rebas	©ÃuQ	4	764	sotcerroc	solugn¡Ãirt	sol	a	narculovni	euq	sarbalap	ed	samelborP	.64	.n³Ãicavele	al	ed	olugn¡Ã	le	y
arbmos	us	,otejbo	led	negami	anu	euqaS	.6	.otejbo	led	arutla	al	rartnocne	,arbmos	al	ed	dutignol	al	y	n³Ãicavele	ed	olugn¡Ã	le	odnasU	.5	.odigele	ah	opurg	ut	euq	otejbo	led	arbmos	al	ed	dutignol	al	artneucnE	.4	.otof	al	hctekS	.n³Ãicavele	ed	olugn¡Ã	le	rartnocne	,adauceda	acirt©Ãmonogirt	n³Ãicaler	al	odnasU	.3	.anosrep	ase	ed	arbmos	al	ed	dutignol	al	rideM	.2	.odneidim	s¡Ãtse	euq	anosrep	anu	ed	erbmon	le	ebircsE	.arutla	al	edim	y	opurg	le	ne	anosrep	anu	egocsE	.1	:sosap	setneiugis	sol	agiS	.areuf	otejbo	nu	ed	arutla	al	ranimreted	arap	soitar	satse
n¡Ãrazilitu	opurg	led	sorbmeim	sus	y	detsu	,yoH	.odaremune	ah	detsu	euq	setnatropmi	senoicaler	sanugla	ranimreted	arap	sotcerroc	solugn¡Ãirt	odazilitu	ah	detsU	:socirt©Ãmonogirt	soitaR	.erbil	eria	la	otejbo	nu	ed	arutla	al	ranimreted	arap	ohcered	solugn¡Ãirt	sol	erbos	nebas	euq	sasoc	sarto	y	sacirt©Ãmonogirt	soitar	racilpa	acilpmi	acilpmi	euq	dadivitca	etneiugis	al	a	redecorp	edeup	detsu	,sacirt©Ãmonogirt	soitar	setnerefid	sal	odadrocer	ah	detsu	euq	arohA	.sacirt©Ãmonogirt	soitar	ed	otpecnoc	le	erbos	otneimiconoc	us	.	.	####
############################################################################################################################################################################################################################################	I	don't	know.	elevation	and	471	depression?	How?	2.	Given	the	same	situation	in	problem	3,	if	you	were	asked	to	find	the	distance	between	the	car	and	the	observer,	how	will
you	go	about	it?	Pictures	depicting	real-life	situations	were	given	in	the	previous	activity	and	your	knowledge	of	the	concept	of	angles	of	elevation	and	depression	was	assessed.	These	concepts	are	important	for	you	to	work	on	the	next	activity.	¢Ã​Â¤Â	Activity	5:	Let's	Work¢Ã​Â​ÂIt¢Ã​Â​ÂOut	Group	yourselves	into	5	or	as	instructed	by	your	teacher.	Let	a	representative	from	each	group	pick	one	problem.	Members	of	each	group	should	work	together	to	solve	the	problem	they	have	picked.	Present	and	explain	your	solution.	1.	A	ladder	8	meters	long	leans	against
the	wall	of	a	building.	If	the	foot	of	the	ladder	makes	an	angle	of	68​Ã°Â	with	the	ground,	how	far	is	the	base	of	the	ladder	from	the	wall?	2.	Adrian	is	flying	a	kite.	He	is	holding	the	end	of	the	string	at	a	distance	of	1.5	m	above	the	ground.	If	the	string	is	20	m	long	and	makes	an	angle	of	40​Ã°Â	with	the	horizontal,	how	high	is	the	kite	above	the	ground?	3.	A	man,	1.5	m	tall,	is	on	top	of	a	building.	He	observes	a	car	on	the	road	at	an	angle	of	75​Ã°Â.	If	the	building	is	30	m	high,	how	far	is	the	car	from	the	building?	4.	A	four-meter	ladder	leans	against	a	wall.	If	the
foot	of	the	ladder	makes	an	angle	of	80​Ã°Â	with	the	ground,	how	high	up	the	wall	does	the	ladder	reach?	5.	An	airplane	took	off	from	an	airport	and	traveled	at	a	constant	rate	and	angle	of	elevation.	When	the	airplane	reached	an	altitude	of	500	m,	its	horizontal	distance	from	the	airport	was	found	to	be	235	m.	What	was	the	angle	when	the	airplane	rose	from	the	ground?	Questions:	1.	What	are	your	thoughts	and	feelings	about	the	activity?	Why?	2.	How	will	you	assess	yourself	in	terms	of	the	given	activity?	(Are	you	good	at	it	or	do	you	still	find	difficulties	in



solving	application	problems	on	right	triangles?)	3.	Why	do	you	assess	yourself	as	such?	51.	Reflect	and	understand	its	objective	in	this	section	is	to	look	at	more	close	to	real	-life	problems	that	imply	straight	triangles.	Two	activities	are	presented	to	test	your	understanding.	Activity	6:	Where	have	I	been	wrong?	1.	Read	carefully	the	problems	that	arise	below.	2.	Analyze	the	suggested	solutions	and	find	out	what	happens	to	them.	3.	Write	your	solutions	in	the	second	column	of	the	table	indicated	below.	4.	In	the	third	column	of	the	table,	write	an	explanation
for	what	its	solution	is	correct.	Problem	No.	1:	An	avión	is	flying	at	a	constant	altitude	of	100	m	on	the	ground.	At	that	time,	it	was	recorded	that	the	airport	depressing	unit	is	40	°.	Find	the	horizontal	distance	between	avión	and	airport.	SUGGESTED	SOLUTION	MY	SOLUTION	My	explanation	at	40	°	1000	m	C	x	B	472	PROBLEM	1:	Let	the	avión	and	b	represent	the	airport.	so	40	°	=	opposite	to	the	adjacent	tan	40	°	=	x	1000	x	=	1000	(so	40	°)	=	1000	(0.8391)	x	=	839.1	ð	“The	horizontal	distance	between	the	avión	and	the	airport	is	839.1	m.	52.	PROBLEM
No.	2:	The	Pagasa	announces	that	a	typhine	will	enter	the	Philippine	Liability	Zone.	Heavy	winds	and	heavy	rains	are	expected	over	the	provinces	of	Bulacan	and	nearby	in	central	light.	Adrian	lives	in	Bulacan.	He	realized	that	one	of	the	posts	installed	in	the	garden	is	about	to	collapse.	As	a	precautionary	measure,	he	attached	a	2	-meter	wire	to	the	light	post	to	support	him.	One	end	of	the	wire	joins	a	meter	of	the	base	of	the	lamp	post	and	the	other	end	binds	to	the	base	of	a	nearby	tree.	He	determines	the	unit	that	the	wire	does	with	the	ground.	SUGGESTED
SOLUCIEN	My	solution	My	explanation	m	2	m	1	m	g	a	473	Problem	2:	Without	g	=	hypotenuse	adjacent	by	pythagoreo	theorem,	gm	=	gm2	â	€	â	€	=	Sin	â	€	“1	3	2	âž›	âžœ	âžž	âž	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G8	.2	.2	?©Ãuq	roP¿Â	?dadivitca	atse	recah	arap	sedatlucifid	odinet	aH¿Â	.1	:satnugerP	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G	G
G	G	G	G	G	did	did	you	overcome	these	difficulties?	Being	able	to	analyze	what	is	wrong	with	a	given	solution	and	present	the	right	solution	to	the	problem	will	give	you	an	edge	in	planning	solutions	to	the	problems	that	you	encounter	in	life.	Activity	6	provided	you	with	an	opportunity	to	improve	your	thinking	skills	which	you	will	need	in	doing	the	next	activity.	53.	¢Ã​Â¤Â	Activity	7:	Problem	Solving	Read	each	of	the	following	problems	carefully	and	solve.	1.	Obiwan	is	standing	at	a	distance	of	15	m	from	the	base	of	a	tree.	From	where	he	is	standing,	he	can	see
the	top	of	the	tree.	If	the	tree	is	15	m	high	and	Obiwan	is	1	m	tall,	what	is	the	angle	of	elevation	of	the	top	of	the	tree?	2.	A	bamboo	pole	is	leaning	against	a	tree.	If	the	height	of	the	tree	is	12.2	meters	and	the	angle	made	by	the	pole	and	the	ground	is	40​Ã°Â,	what	is	the	length	of	the	pole?	3.	The	angle	of	elevation	of	the	sun	is	27​Ã°Â	at	the	same	time	that	a	flagpole	casts	a	shadow	12	m	474	long.	How	high	is	the	flagpole?	4.	From	the	top	of	a	lighthouse	29.5	m	high,	the	angle	of	depression	of	an	observer	to	a	boat	is	28.5​Ã°Â.	How	far	is	the	boat	from	the
lighthouse?	5.	According	to	a	lighting	specialist	for	an	art	gallery,	for	best	illumination	of	a	piece	of	art,	it	is	recommended	that	a	ceiling	mounted	light	be	1.8	m	from	the	piece	of	art	and	that	the	angle	of	depression	of	the	art	piece	be	38​Ã°Â.	How	far	from	the	wall	should	the	light	be	placed	so	that	the	recommendations	of	the	specialist	are	met?	Give	your	answer	to	the	nearest	tenth	of	a	meter.	Questions:	1.	Can	you	solve	problem	1	without	computing?	How?	2.	How	did	you	solve	problem	2?	Can	you	illustrate	what	the	problem	states?	3.	In	problem	3,	if	the
angle	of	elevation	of	the	sun	is	increased,	what	happens	to	the	length	of	the	shadow	of	the	flagpole?	If	the	angle	of	elevation	of	the	sun	is	decreased,	what	happens	to	the	length	of	the	shadow?	Support	your	answer.	4.	How	did	you	answer	problem	4?	problem	5?	What	to	ribircsE	.B	.opurg	us	a	adangisa	aicnatsid	al	razilitu	ed	eserºÃgesA	.8	dadivitca	al	ne	odasab	amelborp	le	ralumrof	,opurg	ed	sore±Ãapmoc	sus	noc	otnuJ	:otneimatnelac	ed	oicicrejE	.A	.8	dadivitca	ne	senoicapurga	sal	etlusnoC	.lapurg	dadivitca	anu	se	atsE	:atoN	laer	adiv	ed	samelborp	ed
n³ÃicalumroF	:9	dadivitcA	.9	dadivitcA	recah	satisecen	euq	ol	otsuj	se	otsE	.senoicatupmoc	sal	ne	n©Ãibmat	onis	senoicidem	sal	ne	ol³Ãs	on	etnatropmi	yum	lepap	nu	ageuj	n³Ãisicerp	al	,sadauceda	senoiculos	sal	razilaer	la	euq	odidnerpa	ah	detsu	,dadivitca	atse	ed	s©Ãvart	A	.alua	led	n³Ãicarugifnoc	al	ed	areuf	ejazidnerpa	le	odatnemirepxe	ah	detsu	,8	dadivitcA	al	nE	?atseupser	us	ed	dutitcaxe	al	rarugesa	arap	atneuc	ne	renet	ebed	©Ãuq¿Â	,ralimis	dadivitca	anu	ecilaer	euq	zev	amix³Ãrp	aL	.8	?©Ãuq	roP¿Â	?satseupser	sut	ne	saicnerefid	sal	³Ãsuac	euq	seerc
©Ãuq¿Â	,on	iS	?sopurg	sorto	sol	euq	arutla	amsim	al	etsiugesnoC¿Â	.sopurg	sorto	sol	ed	sol	ed	eneit	euq	arutla	al	erapmoC	.7	.arednab	ed	atsa	led	arutla	al	artneucne	,etsicih	euq	oledom	le	y	acif​Ãtneic	arodaluclac	anu	odnasU	.6	.n³Ãicautis	al	raledom	arap	arugif	anu	etucejE	.5	.arednab	ed	atsa	led	roirepus	etrap	al	ed	n³Ãicavele	ed	olugn¡Ã	le	enimreted	,n³Ãicatse	us	odazilacol	ayah	euq	zev	anU	.4	.arednab	ed	atsa	led	)dadivitca	atse	ed	setna	opurg	la	ortseam	le	rop	adangisa(	latnoziroh	aicnatsid	al	odneidim	n³Ãicatse	us	ecilacoL	.3	acif​Ãtneic	arodaluclac	.d
amulp	al	ed	rodacram	o	klahc	.c	kcits	ortem	.b	retemonilc	desivorpmi	.a	574	:satneimarreh	setneiugis	sal	renet	ebed	opurg	adaC	.2	.ortseam	us	ed	senoiccurtsni	rop	esnaj​ÃriD	.1	)erbil	eria	la	dadivitca	anu(	aicnatsid	al	a	rI	:8	dadivitcA	.n³Ãiculos	us	ratneserp	y	aleucse	al	ne	o	ragoh	us	ne	sacitc¡Ãrp	senoicautis	odnazilitu	sotcerroc	solugn¡Ãirt	sol	ne	amelborp	nu	ralumrof	arap	.2	;ojabart	ed	ocitc¡Ãrp	euqofne	led	s©Ãvart	a	sotcer	solugn¡Ãirt	nacilpmi	euq	samelborp	ed	n³Ãiculos	al	ne	etnemroiretna	odidnerpa	ah	detsu	euq	sotpecnoc	sol	racilpa	.1	:nos	sovitejbo
suS	Problem	that	implies	the	correct	triam	using	situations	found	at	home	or	at	school	and	476	provide	solutions	to	this	problem.	Questions:	1.	How	do	you	feel	about	the	activity?	2.	Did	you	fight?	tãº?	to	write	a	problem	that	is	required	in	part	B	of	the	activity?	If	so,	how	did	you	come	up	with	it?	Note:	Suggested	Scoring	Rubrics	for	Activity	9	(Formulating	Real-Life	Problems)	are	found	in	the	Teaching	Guide.	SUMMARY/SYNTHESIS/GENERALIZATION	Lesson	4	is	all	about	solving	word	problems	involving	right	triangles.	The	different	trigonometric	ratios,
angle	of	elevation,	and	angle	of	depression	were	recalled	in	this	lesson	since	these	are	vital	concepts	which	you	must	understand	to	successfully	solve	right	triangles.	Activities	that	will	help	you	remember	the	difference	between	angles	of	elevation	and	angles	of	depression	were	included	in	this	lesson.	Opportunities	for	cooperative	learning	where	you	can	develop	team	work	and	application	problems	using	real-life	situations	that	will	help	you	understand	how	the	concept	of	trigonometry	can	be	applied	in	the	real	world	are	likewise	provided	through	some	of	the
activities	in	this	lesson.	The	concept	of	right	triangles	discussed	in	this	lesson	can	serve	as	springboard	for	the	next	lesson	which	is	solving	oblique	triangles.	56.	Oblique	Triangles	Introduction	The	triangles	we	see	around	us	are	not	all	right	triangles.	Look	at	the	pictures	below.	Can	you	see	the	triangular	patterns?	Do	the	triangles	you	see	in	the	pictures	contain	a	right	angle?	acute	triangle	obtuse	triangle	477	5	The	triangles	that	you	see	in	the	pictures	are	known	as	oblique	triangles.	¢Ã​Â¤Â	Activity	1:	Look	around	the	classroom.	1.	Can	you	see	things	in	the
shape	of	oblique	triangles?	List	down	at	least	five	things	you	see	around	that	may	not	be	considered	as	right	triangles.	These	are	oblique	triangles.	2.	Take	a	second	look	at	the	things	you	have	listed	and	find	out	what	common	characteristic	these	triangles	have.	3.	If	you	were	asked	to	classify	the	things	in	your	list	into	two,	how	would	you	do	it?	What	is	your	basis	for	classifying	them	as	such?	4.	Can	you	now	define	an	oblique	triangle?	Give	your	?¡Ãrapurga	sol	om³Ãc¿Â	,sod	ne	solugn¡Ãirt	sol	arapurga	euq	³Ãidip	el	es	iS	.2	?sodad	solugn¡Ãirt	sol	ed	onu	adac
erbos	saton	©ÃuQ¿Â	.1	6	olugn¡ÃirT	5	olugn¡ÃirT	4	olugn¡ÃirT	3	olugn¡ÃirT	2	olugn¡ÃirT	1	olugn¡ÃirT	.ojabed	solugn¡ÃirT	:dadivitca	al	eriM	:1	dadivitca	al	ed	dadivitca	al	eriM	:1	dadivitcA	¤Â¾Å¢Ã	rebas	©ÃuQ	084	01	5.4	2.5	1.5	°Â	58	8	6	°Â	021	°Â	23	°Â	43	°Â	54	°Â	07	6	5.6	3	°Â	52	senoicacilpa	sus	y	sones	sol	ed	yel	aL	5	°Â	02	°Â	04	.95	?riulcnoc	edeup	©Ãuq¿Â	,senoicavresbo	sus	nºÃgeS	?etsaton	euQ¿Â	.odinetbo	ah	euq	serolav	sol	y	sodad	solugn¡Ã	sol	evresbO	.B	°Â	19	nes	,°Â	98	nis	.5	°Â	81	nes	,°Â	261	nis	.4	°Â	55	nis	,°Â	521	nis	3	°Â	031	nis	,°Â	05	niS
.2	°Â	061	nis	,°Â	02	niS	.1	974	:setneiugis	sol	ed	onu	adac	ed	serolav	sol	rartnocne	arap	acif​Ãtneic	arodaluclac	anu	esU	.A	:seranimilerp	soicicrejE	°Â	56	°Â	53	°Â	82	°Â	06	°Â	02	°Â	531	¢Ã531	.01	.9	°Â	¢Ã52	°Â	09	.8	.7	.85	874	°Â	54	°Â	08	.6	.5	°Â	03	°Â	04	°Â	06	°Â	56	°Â	03	.4	.3	°Â	54	°Â	54	°Â	53	.2	.1	°Â	04	.onugnin	o	osutbo	,oduga	se	olugn¡Ãirt	le	is	euqifitnedi	e	setnatlaf	s/solugn¡Ã	sol	ertneucne	:selaro	soicicrejE	.solugn¡Ãirt	ed	opit	etse	ne	selbacilpa	nos	on	olugn¡Ãtcer	olugn¡Ãirt	nu	ed	setrap	narculovni	euq	sacirt©Ãmonogirt	senoicaler	sal	euq	ay	,soucilbo
solugn¡Ãirt	revloser	arap	selaicnese	nos	seyel	sod	satsE	.senoicacilpa	sus	y	sonesoc	sol	ed	yel	al	ed	atart	2.5	n³ÃicceL	al	euq	sartneim	,senoicacilpa	sus	y	SENIS	ed	yel	al	ed	atart	1.5	n³ÃicceL	aL	.2.5	n³ÃicceL	al	y	1.5	n³ÃicceL	al	,rebas	a	,senoicces	sod	ne	edivid	es	5	n³Ãiccel	aL	.°Â	09	ed	s¡Ãm	se	solugn¡Ã	sol	ed	onu	euq	le	ne	olugn¡Ãirt	nu	se	osutbo	olugn¡Ãirt	nU	.°Â	09	ed	sonem	nos	solugn¡Ã	soyuc	olugn¡Ãirt	nu	se	oduga	olugn¡Ãirt	nU	.sosutbo	y	soduga	sod	ne	esracifisalc	nedeup	soucilbo	solugn¡Ãirt	soL	.otcer	olugn¡Ã	nºÃgnin	eneitnoc	on	euq	olugn¡Ãirt	nu	se
oucilbo	olugn¡Ãirt	nU	.75	.soucilbo	solugn¡Ãirt	ed	senoicacifisalc	sal	nos	setneiugis	saL	?soucilbo	solugn¡Ãirt	sol	a​Ãracifisalc	om³Ãc¿Â	,n³Ãicavresbo	us	ed	esab	al	erboS	.5	.odavresbo	ah	euq	ol	ne	odasab	oucilbo	olugn¡Ãirt	nu	ed	?natlaf	?natlaf	euq	sol	revloser	edeuP¿Â	.1	opurG	le	ne	solugn¡Ãirt	sol	acrec	ed	enimaxE	.3	?arenam	ase	ed	solrapurga	arap	esab	us	se	=	C	A	°Â86	34,8	=	c	B	.16	.c	C	odacep	=	a	A	odacep	alumr³Ãf	al	razilitu	somedop	,nad	es	on	a​Ãvadot	B	​â	y	b	odal	le	,euq	otseuP	:senoiculoS	6	=	a	°Â07	=	C	​â	°Â24	=	A	​â	odal	nu	y	solugn¡Ã	sod	:odaD	:1
olpmejE	ovitartsullI	c	C	odacep	=	C	odacep	=	B	odacep	=	atsiv	anu	A	odacep	,CBA	reiuqlauc	nE	seniS	sol	ed	yeL	,n³Ãicaler	al	rop	atircsed	se	sodaceP	sol	ed	yeL	aL	)ASS	osaC(	sodal	sotse	ed	onu	a	otseupo	olugn¡Ã	nu	y	sodal	sod	¢​â	)ASA	;pma&	ASA	osaC(	odal	nu	y	solugn¡Ã	sod	¢​â	:n³Ãicamrofni	etneiugis	al	ebas	detsu	odnauc	soucilbo	solugn¡Ãirt	ed	n³Ãiculos	al	ne	litºÃ	yum	y	riuges	ed	lic¡Ãf	se	seniS	sol	ed	yeL	aL	.	c	C	odacep	le	y	,	b	B	odacep	,	a	A	odacep	le	erbos	riced	edeup	es	euq	ol	,n³Ãicavresbo	us	ne	odasaB	.8	y	4	.son	al	ne	sadinetbo	senoicauce	sal
ravresbO	.9	?etnatluser	n³Ãicauce	al	se	l¡Ãuc¿Â	,c	y	b	ed	otcudorp	le	rop	n³Ãicauce	al	ed	sodal	sobma	somidivid	iS	.8	?©Ãuq	roP¿Â	?senoiserpxe	satse	rarapiuqe	sedeuP¿Â	.h	arap	n¡Ãrevloser	euq	senoiserpxe	rartnocne	arap	6	oremºÃn	le	ne	sadinetbo	senoicauce	sal	ralupinaM	.7	C	odacep	)b	B	odacep	)a	​​â	¡Ãrevloser	euq	n³Ãicauce	anu	amrof	,sacirt©Ãmonogirt	soitar	odnasU	.6	.h	omoc	dutitla	al	rateuqite	y	A	ecitr©Ãv	led	dutitla	anu	rajubid	,n³Ãicaunitnoc	A	.5	?etnatluser	n³Ãicauce	al	se	l¡Ãuc¿Â	,b	y	a	ed	otcudorp	le	rop	n³Ãicauce	al	ed	sodal	sobma	somidivid	iS
.4	?©Ãuq	roP¿Â	?senoiserpxe	satse	rarapiuqe	sedeuP¿Â	.h	arap	n¡Ãrevloser	euq	senoiserpxe	rartnocne	arap	3	oremºÃn	le	ne	sadinetbo	senoicauce	sal	ralupinaM	.3	B	nis	)b	A	nis	)a	184	°Â07	°Â24	6	=	a	C	B	c	b	a	A	C	B	​​â	¡Ãrevloser	euq	n³Ãicauce	anu	amrof	,sacirt©Ãmonogirt	soitar	odnazilitU	.2	.h	omoc	dutitla	al	ateuqitE	.C	ecitr©Ãv	led	olugn¡Ãirt	led	dutitla	anu	ajubiD	.1	.06	.ojabed	olugn¡Ãirt	le	eredisnoC	n³Ãicatolpxe	ed	saicnetoP	:2	dadivitcA	.dadivitca	amix³Ãrp	al	a	adecorp	,on	iS	.om³Ãc	rartsom	,odidnerpa	ah	detsu	euq	seroiretna	sotpecnoc	sol	odnazilitu
solugn¡Ãirt	ed	sopurg	sod	sotse	ed	sadidrep	setrap	sal	revloser	edeup	detsu	iS	?2	opurG	led	sol	ed	yah	©ÃuQ¿Â	?solugn¡Ãirt	sol	ed	a	=	6	42°	70°	482	sin	A	=	sin	C	Formula	to	use	to	resolve	sin	42°	6	=	sin	70°	c	c♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪	♪♪♪	♪♪	♪♪	♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪♪	A	..â	,tpecnoc	siht	gnisU	.
°Â081	si	selgna	eerht	eht	fo	serusaem	eht	fo	mus	eht	,elgnairt	yna	ni	taht	scitamehtaM	8	edarG	ruoy	ni	denrael	evah	uoy	tuB	.nwonknu	si	B	-â-	taht	ecitoN	..	bup	nis	=	a	A	nis	si	desu	eb	ot	alumrof	eht	,b	edis	rof	evlos	oT	34.8	=	c	rof	evloS	1966.0	2836.5	=	c	noitauqe	gnitluser	eht	yfilpmiS	2836.5	=	c	1966.0	rotaluclac	cifitneics	a	gnisu	°Â07	nis	dna	ehÂ24The	resulting	equation	A	=	6,062	0.9848	Solve	by	A	=	6.16	to	solve	on	side	B,	use	the	formula	without	b	=	without	C	and	follow	the	previous	steps.	âˆ	A	=	60	°	âˆ	B	=	40	°	C	=	7	âˆ	A	+	âˆ	B	=	180	°	60	°	+	40	°
+	âˆ	C	=	180	°	100	°	+	âˆ	C	=	180	°	C	=	180	°	°	°	C	=	180	°	A	B	The	Ssa	Case	when	the	measures	of	two	sides	are	given	and	an	opposite	É¡	.	However,	these	possibilities	can	lead	to	the	following	possibilities:	C	B	to	the	SSA	Possibilities	B	a	=	B	without	a	a	c	b	a	c	a	b	a	b	a	b	a	b	a	c	b	a	a	c	b	c	a	b	a	c	b	c	a	a	c	b	c	a	a	60	°	40	°	°	C	=	7	C	A	=	6.16	B	=	4.57	80	°	C	A	A	B	C	B	B	B	without	a	484	If	âˆ	a	is	an	acute	É¡tle	and	an	â	‰	¥	b,	then	there	is	exactly	a	solution	if	âˆ	a	is	an	acute,	A	B	without	A,	then	there	are	two	solutions.	(Ambitious	case)	If	âˆ	a	is	an	acute
Érulo,	a
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